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IE K4 OUT IN GR HDCP  NET  f&%= |[IEH K4 OUT IN GR HDCP  NET & ||NEf% E# OUT IN GR HDCP  NET i
EE/NERET 41 36 771 6.0 71.0 46 WA #HE 49 50 99 22.8 76.2 91 0O X 48 44 92 13.2 78.8
EBENL ZEF 45 47 92 20.4 71.6 47 FO K= 44 48 92 15.6 76.4 92 A% RHE 47 b1 98 19.2 78.8
3 O HE 45 44 89 15.6 73.4 48 'BH =5 48 44 92 15.6 176.4 93 &l F 48 4 92 13.2 18.8
4 E#E MB— 46 43 89 15.6 73.4 49 HEH Bwl 42 44 86 9.6 76.4 94 g &= 52 46 98 19.2 178.8
5 g ZHw# 37 39 76 2.4 73.6 50 Ao & 49 48 97 20.4 76.6 95 it FE 48 49 97 18.0 79.0
6 @ XB 46 48 94 20.4 73.6 51 BH FlJx 41 44 85 8.4 76.6 96 AT FEXx 45 46 91 12.0 79.0
1 Tl k& 43 45 88 14.4 73.6 52 fihitk HfE 44 47 91 14.4 76.6 97 kB B 46 45 91 12.0 79.0
8 @n BA 39 42 81 7.2 73.8 53 BN I@EX 35 43 78 1.2 76.8 98 HH JR— 48 48 96 16.8 79.2
0O M #or 36 39 75 1.2 73.8 ~zromx| 54 #EIL T 40 44 84 7.2 176.8 99 KiF¥ #ME 49 52 101 21.6 79.4
10 A% {8 42 45 87 13.2 73.8 55 M ZEA|l 44 52 96 19.2 76.8 100 £% =& 44 45 89 9.6 79.4
1M gl =88 38 37 15 1.2 13.8 56 ;T9E Z5h 46 44 90 13.2 76.8 101 Bk &—BF 44 50 94 14.4 79.6
12 tEH BA 43 43 8 12.0 74.0 o] RE MA 44 45 89 12.0 71.0 102 R3¢ =+ 45 61 106 26.4 79.6
13 A& %= 39 41 80 6.0 740 58 Lt FHR 44 45 89 12.0 77.0 103 % HBE 52 54 106 26.4 79.6
14 ¥/ FeEt 41 44 8 10.8 74.2 59 e WX 44 44 88 10.8 77.2 104 B% HMZE 53 52 105 25.2 79.8
15 @ X& 37 48 8 10.8 74.2 60 &k H—HE 44 44 88 10.8 77.2 105 3=+t M5 46 53 99 19.2 79.8
16 ®&JII B= 43 41 84 9.6 74.4 61 XX HEfEf 49 51 100 22.8 77.2 106 EN Fx 46 47 93 13.2 79.8
17 #E ®A 50 45 95 20.4 74.6 62 BB =— 40 42 82 4.8 71.2 107 BA H—B8 44 49 93 13.2 79.8
18 &5 = 47 42 89 14.4 14.6 63 R 2 39 43 82 4.8 1T11.2 108 T& 47 50 97 16.8 80.2
19 Hp FE 46 43 89 14.4 74.6 64 FE LIE 46 48 94 16.8 71.2 109 587k = 56 53 109 28.8 80.2
20 A &BA 39 43 82 7.2 74.8 65 /NAE R 40 42 82 4.8 T1.2 110 % =& 49 51 /100 19.2 80.8
21 g BHE 41 41 82 1.2 74.8 66 KR % 39 49 88 10.8 77.2 1M1 4&8E EFI 50 49 99 18.0 81.0
22 t8O0 #H= 45 43 88 13.2 74.8 67 FFk FEE 48 45 93 15.6 77.4 1M2;thE EA 55 50 105 24.0 81.0
23 BH F 43 44 87 12.0 175.0 68 hHE EE 41 46 87 9.6 77.4 1138 #HE 49 55 104 22.8 81.2
24 =i EE 43 44 87 12.0 75.0 69 HE #EE 41 40 81 3.6 77.4 1M43kH B 49 49 98 16.8 81.2
25 oAk EBAl 42 39 81 6.0 75.0 70 £H #— 44 43 81 9.6 71.4 115 5@ 1 48 50 98 16.8 81.2
26 IRO0 Bk 40 40 80 4.8 75.2 N X £=F 46 52 98 20.4 77.6 116 BI& RK—B8 54 52 106 24.0 82.0
21 % =f 45 47 92 16.8 75.2 12 0 = 43 43 86 8.4 71.6 117 |5 h 50 50 100 18.0 82.0
28 & BRXx 37 43 80 4.8 752 13 ATA =S 45 47 92 14.4 T71.6 118 Xi#g E& 49 50 99 16.8 82.2
29 IUF K= 46 40 86 10.8 75.2 14 #FKk IGHE 44 48 92 14.4 T71.6 M9 K #mI 52 59 111 28.8 82.2
30 B+ {EMI 51 46 97 21.6 75.4 5 HE & 47 51 98 20.4 71.6 120 178 B& 49 56 105 22.8 82.2
31 KE BF 47 4 91 15,6 75.4 16 RX& 13X 46 45 91 13.2 77.8 121 JIIF] &’— 50 52 102 19.2 82.8
32 NI & 46 50 96 20.4 75.6 77 B AKX 46 51 97 19.2 77.8 122 5 #fE 54 57 111 21.6 83.4
33 8BK BEfE 44 46 90 14.4 75.6 718 KH $HX 50 47 97 19.2 77.8 123€F% —E 50 53 103 19.2 83.8
34 @)l Bz 43 53 96 20.4 75.6 19 KE BE 46 45 91 13.2 77.8 124 B8 = 52 51 (103 19.2 83.8
3 FO E= 39 39 78 2.4 156 80 Ml &— 48 49 97 19.2 77.8 126 §R EiE 52 55 107 22.8 84.2
36 mWE E& 47 48 95 19.2 75.8 81 &+ BFl 45 45 90 12.0 78.0 126 ¥ = 54 56 110 24.0 86.0
37 4t B&E 40 43 83 7.2 15.8 82 WABR & 41 49 90 12.0 78.0 126 8% ZE& — — — — S
38 T# Jem 42 47 89 13.2 15.8 83 FRIE 8k 42 42 84 6.0 780

39 BEHF IEA 42 47 89 13.2 75.8 84 X&X %l 43 46 89 10.8 78.2

40 8 ®xE 38 45 83 1.2 75.8 86 AMA #<z 51 b5 106 27.6 78.4

41 BE fEXR 49 51 100 24.0 76.0 86 {£M HIfT 48 46 94 15.6 78.4

42 shE FBBEA 48 46 94 18.0 76.0 87 ki@ #E 47 41 8 9.6 784

43 & @7 37 45 82 6.0 176.0 88 sk & 47 41 88 9.6 18.4

4 Bl FiE 42 40 82 6.0 76.0 89 &#F TE 46 47 93 14.4 78.6

45 hft ZJHE 40 48 88 12.0 76.0 90 W HRA 45 48 93 14.4 78.6
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